Lineare Gleichungen

1la) 8+6x=20 b) -3+ 5x =17 C) 4x—12=44 d) 10=24-7x
(Ergebnisse: 4;2;14; 2)

28) 8x+22—-x=100-11x — 42 b) 9x =7x + 16+ 5x + 7+ 10x
€c) 19-3x—23=10+2x—34 d) 29x + 39— 34x =49 - 20x — 10
( Ergebnisse: 0; %13 ; 4;2)

3a) 5(5+ 2x) = 9 + 4x b) 0=4(10-2x) — 3(x - 5) o) 2%(x —3%) =3%(x— 2%
d 5x—-(1+2x)=11 X—(X—-(x-1)-1)-1=x—-1 f) 1—2(x—3(x—4(x—5))):112
( Ergebnisse: 0;5;-%3:0;4;D)

43) O’—??7x+2(x—3)=(—O,3)2(5+x)+2x b) 4x—87x+%(2x—7)=0,7(x—5)+x
1 X 2 2
5X—=(2x+7)=5-13:| 2—— —(X=5)+2x=x-=(5-X
0 5x-3(2x+7)=5-132- %] @ 2x-9) 2(5-x)
(Ergebnisse: 0;{} ;D ;0)
5« 1 2X+5 2Xx+4 2-7x 2X+6
—+==0 =2 = =X+1
) 573 ) = 9 5 3 9
x-3 3+ X X—-2 7 9x+10
OX ——— =5X+—— 5- —(2x-1)-3=—-
® 2 2 " (@x=13=3"7

( Ergebnisse: —*5:4,5; /a1 ; 434 ;3;D )
6 {(x+1)-2+1}-3+l -4+1= |:(X+1)'2+§:|'3+£ 44X
2 3 4 2 3 4

78) 3(x+2)(x—2)—3x(x+5)=0 b) (2+x)°+ (X —3)3x—(-2x)°=1-(1-X)
) x-1*-3x-2)-x(1+x)=2x—-3 d) (x+5*+(x-5°=(X-5)(x+5) ()
(Ergebnisse: Y3:{} ; ¥s ;s )

8a) atbx=1 b) (a+b)x=2 c) 7+(@a—-bx=3 d) ax=1-bx
e 4—-(a+2b)x=0 f) (x+ab=2a g) 2(x+a)=8a h) 2x —4a=ax

i) 1-2ax+2a=x ) 2x—-ax=4+ax k) 3a+6x=4ax+3 ) 128’ +12ax =6
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